
 
 www.alliedboltinc.com

		  www.alliedboltinc.com
P: 516-512-7600 F: 516-512-7611

Poleline Cable TV Hardware Catalog June 14, 2025

Copyright © 2025 Allied Bolt Products, LLC. All rights reserved 1 of 1

Lag Screws

HEX LAG SCREW W/ PERMASEAL™ WASHER
HEX LAG SCREW W/ PERMASEAL™ WASHER

PART# DESCRIPTION PKG
QTY

CTN
QTY

CTN
WT.

7190 1/4" X 2" HEX LAG SCREW W/ PERMASEAL™ WASHER 1000 1 14

7191 1/4" X 2-1/2" HEX LAG SCREW W/ PERMASEAL™ WASHER 1000 1 18

7192 1/4" X 3" HEX LAG SCREW W/ PERMASEAL™ WASHER 1000 1 40

1710 1/4" X 4" HEX LAG SCREW W/ PERMASEAL™ WASHER 500 1 24


